
j8f g+= #

qm=; j8f :t/Lo of]hgfx? /sd

1 j8f g+= # sf] sfof{no hfg] af6f] k'n ;+rfng ug{ df6f] k'g]{ sfo{sf] nflu 100000

2 levf/ b]jfgsf] 3/ b]lv of]u]Gb| k|;fb rf}/l;ofsf] v]t;Dd gx/sf] l8ndf df6f] k'g{ 

sfo{sf] nflu

100000

3 ;ftf] dfO{ dlGb/ b]lv ls;'Gb]j /fpt ubLsf] 3/;Dd df6f] k'g]{ sfo{sf] nflu 100000

4 7'nf] emf}jfdf /x]sf] cw'/f] lgdf{0f /x]sf] Obufxdf 500000

5 # g+= j8f e/L l/+u ljt/0f ug{ 1000000

6 k|;f}gL k'n b]lv ;fgf] Ol6ofxL 6«fG;kmd{ x'b} ufpFdf hfg] af6f]df df6f] k'/L u|fe]n ug]{ 

sfo{

1000000

7 ;fgf] Ol6ofxL ;d;fg 3f6 hfg] af6f]df sNe6{ lgdf{0f sfo{ 200000

8 j8f g+= # sf] sfof{nodf lhg{ cj:yfdf /x]sf] em|ofn 7f]sfsf] nflu 100000

9 vfg]kfgL rfkf sn -x}08 kDk_ ljt/0f ug{sf] nflu 500000

10 e|d0f cjnf]sgsf] nflu 500000

11 afn ljjfx Go"lgs/0f ;DjGwL tflnd, xf]l8Ë af]8{ h8fg ug{ 500000

12 dlxnf kf7]3/ ;DjGwL tflnd ;+rfng / xf]l8Ë af]8{ h8fg ug{ 500000

13 lszf]/L tyf ue{jtL dlxnfnfO{ :jf:Yo k|hGg tyf kf]if0f ;DjGwL tflnd / xf]l8Ë af]8{ 

h8fg ug

500000

14 u}; l;ln08/ ljt/0f ug{sf] nflu 500000

15 7'nf] Ol6ofxL cfTdf/fd ky b]lv nId0f rf}/l;ofsf] 3/ x'b} dl7of;Dd b'j} lt/ 

cf/=l;=l;= gfnf / df]6f] k'/L u|fe]n tyf 9nfg ug]{ 

4000000

16  7'nf] emf}jf 7u ubLsf] 3/ b]lv ab|L sds/sf] 3/;Dd cf/=l;=l;= gfnf / df6f] k'/L 

u|fe]n ug]{

400000

hDdf 10500000

 laGbafl;gL ufpFkflnsfsf] cf=j= @)&^÷)&& sf] k|:tfljt sfo{qmd


